Chapter 1: The Science of Psychology

100 MCQs
1.
Psychology is BEST described as:

A.

The science of mind and behaviour.

B.

The science of behaviour and mental processes.

C.

A systematic organization of what we know through common sense.

D.

The science of mental life.

2.

In which of the following domains will you NOT find a psychologist?

A. 

Teaching

B.

Scientific research

C.

Designing computer systems

D.

Advertising

E.

Psychologists can be found in all of these domains

3.

Which of the following activities is a psychologist NOT involved in?

A.

Scientific research.

B.

Personality testing, vocational testing and test development.

C.

Evaluating people’s handwriting.

D.

Developing advertising and marketing strategies.

4. 

In which of the following places of business would you find a psychologist?

A.

Assembly line

B.

Court house

C.

Football field

D.

All of the above

E.

None of the above

5.

True or false: Psychologists are only found working in research domains, like the university or the government.

6.

Which of the definitions given below is LEAST accurate?

A.

Abnormal psychology is concerned with the nature and development of behaviour, thoughts and feelings associated with distress or impaired functioning.

B.

Comparative psychology is concerned with the study of behaviour in different species.

C.

Educational psychology is concerned with the diagnosis and treatment of developmental, emotional, and behavioural problems in children and teenagers.

D.

Sports psychology is concerned with the use of psychological techniques to confuse, outwit or deceive a sporting opponent.

7.

_______, the belief that knowledge comes from observation and experience, is the common thread of all psychological disciplines.

A.

Common Sense

B.

Statistics

C.

Quantitative Methods

D.

Empiricism

8. 

Which of the below best defines empiricism?

A.

Intuitive knowledge is appealing.

B.

Common sense should be the starting-point for investigating human behaviour.

C.

Reliable knowledge comes from observation and experience.

D.

Statistical testing tells us whether something is empirically true or not

9.

Psychology has more to offer than your grandmother in understanding the complexities of human behaviour because:

A.

Your grandmother’s perceptions can be biased by her own belief system.

B.

The hindsight bias can lead us to falsely overestimate the probability with which we would have predicted an outcome.

C.

Psychologists can examine in a systematic fashion the probability of certain outcomes occurring simply due to random events.

D.

All of the above.

10.

The study of lifestyle and physical well-being on psychological health is known as ____.

A.

Health Psychology

B.

Abnormal Psychology

C.

Medical Psychology

D.

Environmental Psychology

E.

Counselling Psychology

11. If you were a marketing executive and wanted to understand how to best package your product for the world market, which type of psychologist would you consult?

A.

Social psychologist

B.

Cross-cultural psychologist

C.

Consumer psychologist

D.

All of the above

12.

What field of psychology is concerned with the processes by which sensory information is accumulated and used?

A.

Cognitive neuroscience

B.

Neuropsychology

C.

Cognitive Psychology

D.

Comparative Psychology

E.

Organizational Psychology

13.

Social psychology is the study of:

A.

Reciprocal influence of the individual and his/her social context

B.

Changing social systems to prevent psychological problems

C.

The impact of culture on human behaviour

D.

Relationships between human behaviour and the physical environment

14.

True or False: Evolutionary psychologists are interested in why men and women are attracted to each other.

15.

The study of the impact of heredity on animal and human behaviour is known as what?

A.

Evolutionary psychology

B.

Family psychology

C.

Ergonomic psychology

D.

Behaviour genetics 

16.

True or False: An ergonomic psychologist would be interested in making your desk and chair more comfortable in order to improve your studying skills.

17.

If you were interested in studying how to prevent children from acting out in class, what type of psychologist would you be?

A.

Developmental psychologist

B.

Educational psychologist

C.

Developmental psychopathologist

D.

Family psychologist

18 .

True or False: Clinical psychology and abnormal psychology are different names for the same field of study.

19

Which of the following definitions is the LEAST accurate?

A.

Cross-cultural society is the study of the impact of culture on human behaviour

B.

Personality psychology is the study of characteristics that make each person unique

C.

Mathematical psychology is the study of how people relate to mathematical questions

D.

Consumer psychology is the study of effects of advertising on the behaviour of purchases.

20.

True or False: Forensic psychologists would be interested in understanding what influences jury decisions.

21.

True or False: Psychology is only interested in studying humans.

22.

Which of the following do psychologists NOT try to accomplish?

A.

Detach from human behaviour

B.

Understand human behaviour

C.

Predict human behaviour

D.

Change human behaviour

23. 

Being familiar with the history of psychology is important because:

A. 

Ignorance of psychology’s past leaves you unable to evaluate the significance of new developments.

B.

Historical ignorance may lead you to mistake old facts and viewpoints as new.

C.

Seemingly unrelated topics may be intricately bound together through their historical development.

D.

All of the above.

24.

The application of scientific methods (i.e. carefully controlled observation and experimentation) to psychology was most important because:

A.

This improved the status of psychology.

B.

It went beyond what the Greeks had been able to achieve.

C.

It provided a secure foundation for the understanding of mental life and behaviour, beyond speculation, intuition and generalization.

D.

It permitted the use of numerical methods in psychology.

25.

Which of the following was NOT found by Matarazzo (1987) to be part of the core content of psychology?

A.

Biological bases of behaviour

B.

Abnormal explanations of behaviour

C.

Cognitive and affective processes

D.

Developmental processes

E.

Social bases of behaviour

26.

According to Auguste Comte:

A.

Only positive facts and observable phenomena should be recognized.

B.

Social life is governed by laws and principles that we can discover through the same investigative methods that are used in the physical sciences.

C.

The methods of science should be applied to the study of mental phenomena conceived of in mechanistic terms.

D.

All of the above.

27.

True or False: Rene Descartes believed that the body and mind were fundamentally different in nature.

28.

According to Descartes, the mind and body interact in what part of the brain?

A.

Frontal lobe

B.

Corpus collosum

C.

Pineal gland

D.

Medulla oblongata

E.

Brain stem

29.

According to Rene Descartes:

A.

The body controls all actions through mechanized clockwork.

B.

The mind is the centre of the human spirit and houses the soul.

C.

There is a relationship of mutual interaction between the mind and body

D.

The mind controls all actions and is not influenced by the body.

30.

True or False: John Locke believed that the some ideas (like God) are innate (instinctive).

31. 

John Locke argued:

A.

For the importance of innate ideas.

B.

A new-born child’s mind is a ‘blank slate’.

C.

The notion of God is one of the most important innate concepts.

D.

Complex ideas differ from simple ideas.

32.

Which of the following was not one of David Hume’s Laws of Association?

A.

Resemblance or similarity

B.

Contiguity in time or place

C.

Causality

D.

Correlation

33.

Which of the following does NOT represent one of the foundation stones of psychology?

A.

Materialism.

B.

Reductionism.

C.

Empiricism.

D.

Positivism.

34.

True or False: A person who believes in philosophical materialism thinks that only the physical body can be understood in terms of matter and energy.

35.

Central to the study of psychology is the idea that all things, including mental phenomena, can be described in physical terms and understood in terms of matter and energy. This is known as what?

A.

Materialism

B.

Empiricism

C.

Dualism

D.

Tabula rasa

36.

The discovery that thought and movement do not occur simultaneously, but that thought occurs first is attributed to whom?

A.

John Locke

B.

Rene Descartes

C

Hermann von Helmholtz

D.

Wilhelm Wundt

37.

The smallest difference between two stimuli that can be discriminated is known as ____.

A.

A peck

B.

Just noticeable difference

C.

Barely visible change

D.

Smallest difference

38. 

Ernst Weber (1795–1878):

A.

Regarded psychology as being fundamentally dissimilar to a ‘natural’ science.

B.

Preferred other approaches to the strict experimental methods adopted by many of his peers.

C.

Found that the smallest difference between two stimuli that could be discriminated (jnd) depends on the relative difference between the stimuli.

D.

Identified that the jnd was the same across the different senses.

39.

The systematic attempt to relate changes in the physical world to differences in our psychological perceptions is known as _______.

A.

Psychology

B.

Psychophysics

C.

Psychoanalysis

D.

Empiricism

40.

Who was considered the founder of modern psychology?

A.

John Watson

B.

Gustav Fechner

C.

Wilhelm Wundt

D.

Ernst Weber

41.

What year is the birth date of psychology?

A.

1960

B.

1914

C.

1879

D.

1690

42.

What event is given as ‘birthing’ the field of psychology

A.

The publishing of Wundt’s Principles of Physiological Psychology

B.

The discovery of the JND (just noticeable difference) by Fechner

C.

The publishing of the Essay on Human Understanding by Locke

D.

The opening of Wilhelm Wundt’s psychology laboratory in Leipzig,Germany

43. 

Gustav Fechner (1801–87):

A.

Developed a programme of research into psychophysics.

B.

Devised experimental methods that, with minor modifications, are still in use today.

C.

Advanced the notion of ‘average error’, which assumes that one cannot obtain a ‘true’ measure of sensation.

D.

All of the above.

44.

When asked to view a picture of a fish, a person trained in introspection will focus on all of the following except:

A.

The colours

B.

The fish

C.

The range of white to black

D.

The pressure of the picture in their hand

45.

Introspection is literally defined as:

A.

Looking inward

B.

Choice blindness

C.

External reflection

D.

Structure of the mind

46.

True or False: Someone who is practicing introspection considers only the different elements of their experience.

47.

Which of the following is NOT one of Titchner’s elementary sensations from his Periodic table of the Mind?

A.

Smell

B.

Taste

C.

From the internal organs

D.

Sight

48.

The term ‘stream of consciousness’ came out of which system of psychological thought?

A.

Functionalism

B.

Structuralism

C.

Behaviourism

D.

Materialism

49.  

Which of the following is FALSE, regarding structuralism?

A. 

This school of thought was founded by Wilhelm Wundt and Edward Titchener.

B. 

Seeing a red circle is an example of an elementary perceptual experience.

C. 

Elementary experiences are organized into a whole via a process of ‘creative synthesis’.

D. 

According to structuralists, psychology is the science of immediate experience, unbiased by any interpretation.

50.

True or False: William James, an exponent of functionalism, believed that people always experienced the simple sensation of things.

51.

William James:

A.

Was the most important exponent of structuralism.

B.

Believed that the most important thing about consciousness was its relationship to the unconscious.

C.

Viewed the attempt to divide the unconscious into distinct elements as misguided.

D.

Offered a vision that is closer to modern psychology than anyone else who was writing in the nineteenth century.

52.

Which of the following is NOT true about functionalism?

A.

It replaced a preoccupation with the structure of the mind with a focus on function.

B.

It addressed the very practical question of what the mind, or mental processes, accomplish.

C.

It articulated the notion that that behaviour might also reflect adaptation to the environment.

D.

It owed much to the work of Sigmund Freud.

53.

What was the name of John Watson’s manifesto that started the behavioural revolution in psychology?

A.

Walden 2

B.

Psychology as the Behaviourist Views It

C.

Principles of Psychology

D.

The Behaviour of Organisms: An Experimental Analysis Of Behaviour

54.

Which of the following does NOT apply to Charles Darwin?

A.

He regarded acquired characteristics as important for evolution.

B.

The notion of function is central to his theory of evolution.

C.

His work raised the possibility of continuity in behaviour and mental functioning between humans and non-human animals.

D.

His observation of variation among members of the same species in turn focused attention on individual differences in psychology.

55.

True or False: Behaviouralists only study lower animals, like Pavlov’s dogs, because they believe the human animal is too complex for proper empirical research.

56.

Which of the assertions below regarding behaviourism (as defined by J. B. Watson) is true?

A.

It set out to promote a totally subjective psychology.

B.

All functioning was to be treated in stimulus–response terms, except thinking.

C.

Stimulus–response units were seen to be the basic building blocks of complex behaviour.

D.

Watson was more interested in working with humans than with non-humans.

57.

Which is not a classic study of the behaviourist principle of the law of effect?

A. 

Cats were placed in a cage with food waiting outside and were timed to see how long it took them to escape.

B.

Dogs were trained to salivate at the sound of a bell without the presence of food.

C.

After the pairing of a white rat and a loud noise, a child would cry when he saw the rat.

D.

A horse was taught to ‘count’ by noticing his trainer’s signals.

58.

Identify the FALSE statement from those given below:

A.

Thorndike placed cats in a cage, put food outside the cage door and timed how long it took the cat to learn how to escape.

B.

Thorndike is credited with introducing the experimental investigation of animal behaviour.

C.

In the process of trial-and-error learning, Thorndike observed that responses were ‘stamped in’ or ‘stamped out’, depending on their consequences.

D.

According to Thorndike’s law of effect, any act which in a given situation produces satisfaction becomes associated with that situation, so that when the situation recurs the act is less likely to recur also. Conversely, any act which in a given situation produces discomfort becomes dissociated from that situation, so that when the situation recurs the act is more likely than before to recur.

59.

What do operant behaviours ‘operate’ on?

A.

Kidneys

B.

Subject’s Environment

C.

Human behaviour

D.

The mind

60. 

Which of the following is NOT true about radical behaviourism?

A.

It analyses all psychological phenomena (including ‘mental states’) in terms of behaviour.

B.

A mental state is treated as a sub-category of the environment.

C.

Radical behaviourists focus only on human behaviour and the variables that control it.

D.

They look in only two places for these variables: the conditions that immediately precede the behaviour and the conditions that immediately follow it.

61.

Which of the following is NOT an example of an interval schedule?

A.

Being awarded when you hit the buzzer

B.

Getting paid every two weeks

C.

A plant getting sun every morning

D.

Monthly phone bill

62.

Which of the following was not espoused by B.F. Skinner?

A.

Skinner believed that his laboratory research could provide guidelines to improve society.

B.

Skinner thought that more research should be conducted on the mind.

C.

He believed that behaviour was complex and difficult to study.

D.

Skinner focused on establishing laws of behaviour.

63. 

Which of the following is FALSE regarding B. F. Skinner?

A.

He focused on establishing laws of behaviour (empirical relationships between environmental events and behaviour) based on intensive observation of large numbers of participants observed under carefully controlled experimental conditions.

B.

His approach, the experimental analysis of behaviour, investigated ‘operant’ behaviours – so-called because they ‘operate’ on the subject’s environment.

C. 

He viewed his operant approach as being highly representative of real-life learning.

D.

Operant behaviours are distinguished by Skinner from the kind of behaviours studied by Pavlov (the latter being termed ‘respondent’ behaviours, because they represent a response to a known stimulus).

64.

Which of the following is an example of a ratio schedule?

A.

Monthly magazine subscription

B.

Being paid based on commission

C.

Being awarded when you hit the buzzer

D.

Getting a kiss when you do the dishes

65.

True or False: A variable ratio schedule produces the highest rate of responding.

66.

Which is NOT an example of Gestalt psychology?

A.

Apes solve problems by spontaneously gaining insight and solving the problem

B.

When we see two lights flash in quick succession we perceive movement between the two lights

C.

A rat in a maze will eventually learn how to make it through the maze

D.

When we the shape Ө, we call it a circle

67.

Who was the founder of Gestalt psychology?

A.

Max Wertheimer

B.

B.F. Skinner

C.

John Watson

D.

Wolfgang Kohler

68. 

Which of the following is true?

A.

It is possible to explain the phi phenomenon in structuralist terms by describing each elementary sensation.

B.

According to Wertheimer, apparent movement cannot be reduced to anything simpler.

C.

From the Gestalt perspective, the whole is no greater than the sum of its parts.

D.

Gestalt psychology supported the associationist views of perception.

69.

True or False: Gestalt psychologists agreed with behaviourists that trial and error studies were the best way to understand the wholeness of human behaviour.

70.

True or False: Hermann Ebbinghaus did not think it was possible to investigate higher mental processes experimentally.

71.

Which of the following was NOT a psychological problem solved by Hermann Ebbinghaus?

A.

Converting unobservable mental processes into observable behaviour

B.

Measuring behaviour reliably

C.

Showing how relevant variables affect behaviour

D.

Explaining how behaviours develop over time

72. 

Which of the following is NOT true concerning Hermann Ebbinghaus (1850–1909)?

A.

His experimental techniques involved learning nonsense syllables.

B.

To learn lists, Ebbinghaus went though a stack of cards, each of which contained several syllables.

C.

Ebbinghaus reasoned that learning and forgetting could be studied using two techniques: 1. complete mastery and 2. savings.

D.

To be sure about the accuracy of his results, Ebbinghaus would repeat the same task several times using different lists.

73.

Which of the following defines the progression of Ebbinghaus’s ‘forgetting curve.’

A.

Forgetting occurs gradually over a course of days after learning

B.

Forgetting occurs rapidly over the first few hours after learning and then proceeds more slowly

C.

After learning, forgetting occurs within a few minutes if it is not used

D.

After learning, Forgetting occurs slowly after the first few hours and then degenerates quickly

74.

Which of the following would not come under the heading of psychometrics?

A.

Stanford-Binet IQ test

B.

MMPI (Minnesota Multiphasic Personality Inventory)

C.

This test

D.

Likert Attitude Scale

75.

Francis Galton calculated that there was 33% chance of members of an eminent group having family members that also belong to that group. Why should you be suspicious of these findings?

A.

There was no control group of equal but non-eminent people.

B.

The relatives share similar environments that might explain the relationship.

C.

Both A and B are correct

D.

None of the above, Galton used rigorous methodology

76. 

Which of the following assertions about Francis Galton is FALSE?

A. 

He initiated the whole idea of ‘mental tests’.

B. 

He assumed that intelligence could be measured in terms of sensory abilities.

C. 

Galton was, however, uninterested in the inheritance of mental abilities.

D. 

Galton’s interest in documenting human differences led him to develop important statistical methods.

77.

True or False: Francis Galton believed that intelligence could be measured in terms of sensory abilities.

78. 

Which of these is true about Sigmund Freud?

A. 

His work took place outside the mainstream of psychology and did not have an immediate impact on the subject.

B.

His data was obtained from carefully controlled clinical experiments.

C.

The task of psychoanalysis was to take memories out of conscious awareness.

D.

There were several points of contact between psychology and psychoanalysis.

79.

How was Freud’s idea of mental structures (id, ego, superego) different from Wundt’s introspection?

A.

Freud’s mental structures are unconscious and therefore can not be analyzed with introspection

B.

Introspection only deals with outside phenomena, while Freud’s mental structures are internal

C.

Freud’s mental structures are a personality construct while introspection is a theory

D.

Introspection is no longer used while Freud’s mental structures are still used

80.

Which of the following reasons explain why psychologists are generally sceptical of Freud’s work?

A.

Freud’s data was not obtained from controlled experiments

B.

Freud did not generate empirically testable hypotheses

C.

Freud defined his terms in vague language

D.

All of the above

81.

True or False: Freud accepted criticism of his theories based on their shaky methodological grounds, and tried to conduct more rigorous tests.

82.

What was the foundation of Freud’s theory of personality?

A.

Empiricism

B.

Behaviouralism

C.

Psychoanalysis

D.

Psychometrics

83.

Jean Piaget identified himself as a ____.

A.

Psychologist

B.

Psychiatrist

C.

Biologist

D.

Genetic Epistemologist

84. 

Jean Piaget:

A. 

Used logical arguments alone to address the question: how do we come to know something?

B.

Studied developmental changes in knowing and the nature of knowledge.

C.

Identified himself as a psychologist.

D.

Argued that what is known may change, but the knower does not.

85.

Which of the following is a valid criticism of Jean Piaget’s work?

A.

His work was fragmented and difficult to understand

B.

His observations were based on his own children and relied on their verbal reports

C.

He was not a psychologist

D.

The gaining of knowledge is not a developmental issue

86.

Jean Piaget defined knowledge as a relationship between _____.

A.

The knower and the known

B.

Children and their parents

C.

Children and their environment

D.

Mind and the personality

87.

True or False: Jean Piaget believed that learning from others was instrumental in developing a child’s intelligence.

88.

Which of the following is FALSE about Jean Piaget?

A.

He believed that a child understands an object by acting on it and thereby constructs knowledge.

B.

Children from seven on are capable of abstract mental operations

C.

Infants are incapable of developing cognitive structures

D.

Older children are capable of understanding that quantities remain constant despite appearance changes.

89. 

Which of the following did NOT enable psychology to ‘regain its mind’ in the late twentieth century?

A.

Watsonian behaviourism.

B.

The elimination of those psychological concepts that related most closely to people’s everyday experience and to their mental life.

C.

The stimulus–response approach was inadequate for explaining many psychological phenomena.

D.

Existing methodologies had deprived psychology of some of it most interesting problems.

90.

What does it mean when it is said that psychology ‘lost its mind’ thanks to Watsonian behaviourism?

A.

Psychology focused on behaviours and stopped studying cognition

B.

Psychology followed a line of research in behaviourism that was fruitless and crazy

C.

When Watson died psychology lost its best mind in the field

D.

Psychology focused on behaviours and did not embrace Freud’s theory of mind

91. 

In his work on human skills and performance, what do we know to be true of Broadbent?

A.

He found that humans are rarely guided by information, or ‘feedback’, provided by machines (e.g. instruments in an aircraft cockpit).

B.

He noted that on the occasions when feedback is used, the individual typically makes use of all the available information in operating the machine (e.g. flying the aircraft).

C.

He found that the problem for the person operating the machine is the allocation of attention to direct the processing of available information.

D.

He dissociated his work with ideas from information theory.

92.

True or False: Broadbent believed that, like computers, people make use of all of the information available to them.

93. 

Which of the following does NOT represent an important contribution of the computer in psychology?

A. 

Data analysis.

B.

Stimulus presentation.

C.

Replacing humans in the generation of experimental hypotheses.

D.

As a metaphor for mental functioning.

94.

Which of the following applies to the information processing approach?

A.

Human behaviour should be thought of in abstract terms that transcend the operation of the brain’s 100 billion nerve cells.

B.

The human brain should be understood by it physical components, like brain cells

C.

Computers are not as complex as the brain and therefore offer very little help as a metaphor

D.

Plans and goals are unimportant in understanding human behaviour

95. 

According to the computer metaphor, which of the following is FALSE?

A. 

Complex actions can be broken down into a series of binary, yes-or-no decisions.

B.

In principle, this meant that, with a system of feedback, a computer could duplicate the behaviour of a human, no matter how complex that behaviour.

C.

These ideas quickly led to new models of behaviour that incorporated such mentalistic concepts as plans and goals.

D.

The information-processing approach is often described as a concrete analysis, focused on the physical components of the system.

96.

Which is NOT a difference between the information-processing and connectionist approach?

A.

Information-processors support serial processing, while connectionists support parallel processing

B.

Connectionists believe that neural systems function as a whole, while information-processors believe that systems can be broken into units

C.

Connectionists think the neural and cognitive systems work together, while information-processors think there is a central control unit

D.

Information-processors believe in automatic processing, while connectionists believe in automatic processing

97. 
Which of the following applies with respect to the connectionist, or ‘neural network’, approach?

A.

The functioning of idealized nervous systems can inform the ways in which the human nervous system processes material.

B.

These systems conduct information processing in a serial manner.

C.

Connectionists embrace the notion of a central control unit.

D.

Connectionists argue that mental processes can be broken down into discrete components.
98.

True or False: The cognitive revolution eliminated the need for research on biological explanations of psychology.

99.

Neurological imaging techniques are only useful for understanding which of the following behaviours?

A.

Reading

B.

Listening

C.

Remembering

D.

All of the above

100.

True or False: Connectionists believe that all aspects of the self (mind, body, soul, etc.) are connected.

